10 9 8 7 6 5 4 3 2 1
IIA"
llB"
Wi (i i i (i it |
1 1 1 15.7
L L L L L .62
621 AUX. VIEW
REF. -50 OPT. SCREW — —{— I — _' i .
(WHERE APPLICABLE) ] W) W) il W Wy SCALE 1:1
i (6 CIRCUIT SHOWN)
L 9.53 TYP.
[.375]
"B" |
7.9, TYP. _ o @ CL
© o {{o 131)
\
953TYP7 "/""r'\- /""r'\"/""r'\- Z\“/‘T’\" ‘ Il (BEAUX
379l —HI==|I—=|A === |I== 168 |
?1.93 TYP. T T T T \ ) 66] 7 ‘2
Lorel | | | | | | o |
S| L | I | e @ 0
PTH PATTERN | | | ‘ | | | }
| | | | | ‘ 5.3
1 | | | | | 11.9 | [.21]
| | | | | | [47] @ 66 I le
| | | | | | [26]
| i
0.81 TYP. ] 157
[.032] [.062]
NOTES:
1. MATERIAL: SEE TABLE
2. FINISH: SEE TABLE
3. INCH DIMS ARE SHOWN IN BRACKETS [XXX].
4, "XX" REFERS TO THE QUANTITY OF CIRCUITS.
5. ALL COMPONENTS ARE ROHS COMPLIANT.
THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
5 |XX |SCREW&WASHER, #6-32 PH/SL (-50 OPT) |STEEL ZN, CLEAR CHROMATE MMUN| .4 | NOMBERSAS PER PNg I8 oo e T
’ ' molex
4 XX SCREW, #6-32 PH/SL (-49 OPT) BRASS NICKEL PLATE (UNLESS SPECIFIED)
W | NoH 9.53 [.375"] SR BTS, PC
3 XX SCREW, #6-32 PH/SL (STANDARD) STEEL ZN, CLEAR CHROMATE 4 PLACES |: : EC NO: 793824 INSUL ASSY, NO MTG.
3 PiAcEs I " oo0s | DRWN: MADHAMS 2024/06/06
1PLACE |t 03 |t INITIAL REVISION: DOCUMENT NUMBER DOC TYPE[DOC PART[REVISION
1 1 INSULATOR PBT, GF BLACK 0 PLACES |- : DRWN: C. YORK 2006/06/02 SD-38720-009 psD| 001 | A1
ANGULARTOL  + 20° |APPR: R.DEROSS 2006/06/02 - -
ITEM QTY. D ESCRI PTION MATERIAL F I N I S H DRAFT WHERE APPLICABLE THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2024/08/14  08:26:45 | s @ -E=} | B-SIZE | 38720 | SEETABLE | GENERALMARKET | 1OF2
. 9 8 7 6 5 4 3 2 1




10 9 8 7 6 5 4 3 2 1
# OF DIM. "A" DIM. "B" ASSEMBLY ASSEMBLY ASSEMBLY
CIRCUITS ) : MATERIAL NO. MATERIAL NO. MATERIAL NO.
"XX" mm in mm in (-C OPT) (-C-49 OPT) (-C-50 OPT)
3 30.6 1.21 19.05 0.75 387205103
4 40.1 1.58 28.58 1.125 387205104
8 78.2 3.08 66.68 2.625 387205108
11 106.8 4.21 95.25 3.75 387205111 387205411
12 116.3 4.58 104.78 | 4.125 387205112
13 125.9 4.96 114.3 4.5 387205113 387205413
14 135.4 5.33 123.83 | 4.875 387205114 387205414
15 144.9 5.71 133.35 5.25 387205115 387205415
16 154.4 6.08 142.88 | 5.625 387205116 387205416
17 164 6.46 152.4 6 387205117
18 173.5 6.83 161.93 | 6.375 387205118 387205418
19 183 7.21 171.45 6.75 387204819 387205119 387205419
20 192.5 7.58 180.98 | 7.125 387205120 387205420
21 202.1 7.96 190.5 7.5 387204821 387205121 387205421
22 211.6 8.33 | 200.03 | 7.875 387204822 387205122 387205422
23 2211 8.71 209.55 8.25 387204823 387205123 387205423
24 230.6 9.08 | 219.08 | 8.625 387204824 387205124 387205424
25 240.2 9.46 228.6 9 387205125 387205425
26 249.7 9.83 | 238.13 | 9.375 387204826 387205126 387205426
THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
I
MGI\E/Il\I/ElRNALTOLEs\I-\IlES mo ex
(UNLESS SPECIFIED)
MM_| INcH 9.53[.375"] SR BTS, PC
4 PLACES |r : ECNO: 793824 INSUL ASSY, NO MTG.
S PLACES |k 0005 | DRWN: MADHAM5 2024/06/06
2PLACES |: 013 |t 0.01 ,SEEF?; ggﬁ ;g;jfggﬂi PRODUCT CUSTOMER DRAWING
;'ztiz; - thg\IvlrﬁLcF:{ EY\ggLo " 2006/06/02 T an JRNN DN boh
ANGULARTOL _: 20° |APPR: R.DEROSS 2006/06/02 SD-38720-009 PSD| 001 | A1
ORAFTVIHERE APPLICABLE | THIRD ANGLE PROJEGTION | DRAWING SERES | WATERIALNOVBER CUSTOVER SHEETNOVBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2024/08/14  08:26:45 | WITHN DIVENSIONS @ £ | B-SIZE | 38720 | SEETABLE | GENERALMARKET | 20F2
9 8 6 5 4 3 2 1




13 12 " 10 9 ‘ 8 ‘ 7 6 5 4 ‘ 3 ‘ 2 ‘ 1
NUMBER OF DIM. A DM. B
CRCUITS "XX* | IN MM IN MM A
J 02 33 211 375 953
03 21 307 1750 905 (SEE LHART)
04 158 401 125 7858
05 196 498 500__38.10 B
06 233 59.2 875 4763 (SEE CHART)
07 271683 2250 5715
03 308 782 2.625__66.68 REF. -50 OPT. SCREW
' 09 346___8/38 3.000 7620 (WHERE APPLICABLE) ==
0 383 973 3375 85,73 N 1 NI A 62
11 47211069 3750 9575 W I ‘ 57
— 7 458 116.3 425 10478 | ]
3 496 1260 450011430
17 533 1354 4875 17383
H 5 5711450 5750 133.35
16 608 1ohi 5625 14).88 0375 1yp
17 6061640 6.000 152,40 953
] E 880 137 16375 16103 ©@
9 721 183 6750 17145
20 758 1925 777518098
21 796 7027 | 7500 19050
a 27 833 26 7.875__200.03 I
23 871 27217 8250 209.55
24 908 7306 | 8625 219.08 ol 21
—] 25 046 2403 [9000 22860 \ \ \ ! \ \ 38 oee >3
26 983 250.0 9375 238.13 9.7 ' |
f
F
ENGINEERING NUMBER LEGEND | ; | | ; | | 1 | | 1 | | 1 | T [
(OLD MATERIAL NO.) @/ ‘ I
031 26
77 3 XX-C-XX-XX 3) el 0.80 Yo || ™
®
©)

-49: BRASS

-50: STEEL W/WASHER MAX VOLTAGE: 300V (BINDING HD. 14 AWG) 215 ((—_E37150%Er1)—)

TAIL LENGTH OPTIONS (AS SHOWN) MAX CURRENT: 15A

77 7 NOTES: ’
E SERIES 1. MATERIAL: SEE TABLE 062 TAIL LENGTH
TERMNAL STYLE SCREW OPTIONS 2. FINISH: SEE TABLE ﬁ% f—— 47 (STD)
NUMBER OF CIRCUITS BLANK: STANDARD STEEL 3. ELECTRICAL SPECS: .55 (-55 OPT)

NO MOUNTING ENDS BLANK (STANDARD)

D ?2 MAX VOLTAGE: 300V (-50 OPT, 12 AWG) 076 B ‘
-8 MAX CURRENT: 25A ®793 JD
— 4677
4. REFER TO SD-38120-001 FOR IMPRINT OPTION 10A & 1A 375
S. PRODUCT SPEC: PS-38710-001 553 1P
C 6. SCREW TIGHTENING TORQUE: 12 IN LBS. (MAX) BTH PATTERN
7. WIRE STRIP LENGTH: .31 (7.8mm)
8. PART IS RoHS COMPLIANT
8 XX SCREW & WASHER, #6-32 PH/SL (-50 OPT) |STEEL CLEAR ZN CHROMATE REF. THIS DRAWING SUPERSEDES SD-38720-009 REV-A (ME10 DOC)
7 XX |SCREW, #6-32 PH/SL, -49 OPT BRASS NICKEL PLATED S T TR S E—— HED ANEE
S= S [qualiTy
B |6 [XX |SCREW, #6-32 PH/SL, STEEL CLEAR ZN CHROMATE SL 5| |sympoLs| (UNLESS SPECIFIED) IN/MM 24 INCH ‘@ I PROJECTION
2e = _— H\]CH DRAWN BY DATE TITLE
5 |XX |TERMNAL, WIRE WRAP (-81 OPT) BRASS TIN PLATED S SREz|W-0 [Tracs iﬂm T—— RSTONE 2016/05/20 SR, BTS, PC, INSULATED
I A XX |TERMINAL, WIRE WRAP (-75 OPT) BRASS TIN PLATED 3B | -0 3 PLACES|:-——- [£.005 ;HEZC‘KEEE m% 20%%5/24 NO I‘g%l\glggME;\lDS
S =g \y= £0. e
3 [X |TERMNAL, WIRE WRAP (-5 OPT) BRASS TN PLATED z8z=F LA e 2 : I
2 |Xx |TERMINAL, WIRE WRAP (47 STD) BRASS TN PLATED = O PLACE [£-=- [#---  BRUPERT 2016/05/26 moiex
A @ % =5 & ANGULAR i,,,o MATERIAL NO. DOCUMENT NO, SHEET NO.
1|1 [NSULATOR PBT BLACK DoZxt DRAFT WHERE APPLICABLE|_SEE TABLE SD-38720-015 1 OF 1
Hoo <t = MUST REMAIN SIZE T THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
[TEM |QTY. |DESCRIPTION MATERIAL FINISH A [ WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

to_frame_C_P_AM_T
Rev B1 5073 /61/25 12 M 10 9 8 7 ‘ 6 5 ‘ 4 3 ‘ 2 ‘ 1



